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Table 5-14: Wage gap by establishment size in all industries
(1,000 A LA _E =100) (1,000 empl. or more=100)

[/ Count _ 1 FR1E (N)/establishment size (employees)

i 5t(6~) | 5~29 [ 30~99 | 100~499 [ 500~999 | 1,000~

ZFN JPN 73.3 61.8 71.3 81.4 92.1 100.0
(B35 2/ manufacturing) (75.0) (57.9) (62.0) (79.9) (89.7) (100.0)

1~9 | 10~49 | 50~249 [ 250~499 | 500~999 | 1,000~

FAYA USA 48.1 49.5 58.4 70.8 82.9 100.0
(B& % /manufacturing) (40.8) (46.4) (54.9) (64.8) (70.8) (100.0)
LFYR GBR 49.5 97.1 82.9 108.0 86.1 100.0
(N DEU — 83.3 91.5 110.7 145.7 100.0
TSUR FRA — 76.0 82.5 83.7 100.2 100.0
127 ITA — 56.9 74.1 65.7 49.9 100.0
AYI—TFT SWE 78.7 83.7 87.4 89.7 100.0

BRHHEAT AR EAE S (2012.2) rq:EJZZSEPDlﬂ )97 R I AR
7 AUF7:U.S.Bureau of Labor Statistics (2011.9) Quarterly Census of Employment and Wages
BX 1 : Eurostat Database —Structure of Earnings Statistics 2010, 2013452 H BiAE
() D BEERSITAARET AT FEEFTHRL, BUIRD R,
2) BAITEH ﬁ@lﬁ@fﬁl%("\’%ﬂ@ A%H(total cash earnings), BUA[E X H M) & 4448 (mean
monthly earnings), 7 AU A 3 4 H%H (total wages) ZJE &AL CHRLIZbLONLZE N LR
HaAERk,
3) gﬁO)Fé%?ﬂi#%%ﬁ¥, TAV I OFEEFIIRBREICK T DI ENREEL S REL,
EHUCE,
4) BHAIT20114E, 7 AU E201 VAR5 10044, MR X20 10RO H i,

515K FIRD U —ZRE

Table 5-15: Gini coefficients of income inequality

= 19804ELE | 19904FEE | 1990F MR (L | 2000FEH |2000FER (K| BEEE
Country around 1980 around 1990 Mid-1990s around 2000 Mid-2000s latest year
BAX JPN 0.304 — 0.323 0.337 0.321 0.329
TA)A USA 0.337 0.348 0.361 0.357 0.380 0.378
A1F¥YR GBR 0.309 0.354 0.336 0.352 0.331 0.342
R DEU 0.251 0.256 0.266 0.264 0.285 0.295
TIVR FRA 0.3 0.29 0.277 0.287 0.288 0.293
137 ITA 0.309 0.297 0.348 0.343 0.352 0.337
AYI—T2 SWE 0.198 0.209 0.211 0.243 0.234 0.259
-HES| KOR - — - — 0.306 0.315
A—RLS7 Aus 0.309 0.317 0.315 0.336
BERHEFT OECD Database“Income distribution — Inequality” 2012455 H Bi{F
(%)
2000 | 2005 | 2007 | 2008 | 2009  [2010%F/Year
BX JPN 0.3997 0.3948 0.3949 0.4041 0.3950 0.3958
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